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(A) TrHGAA

(B) HIBICIE

(C) 3BT

(D) o araferal & forg
T USRI & 17 T8 B §
(A) Bl @

(B) Tefd @1

(C) X @

(D) Suga H A Bl el
AE YIR AR YA IR WA o
T

(A) 1876 H

(B) 1903 H

(C) 1915 ¥

(D) 1918 #

C010201T

(3)

Planning is :

(A) Long-term

(B) Middle-term

(C) Short-term

(D) Forall terms

“A plan is a trap to capture the future.”

This statement is of :

(A) Hurley

(B) Allen

(C) Terry

(D) None of the above

The term ‘Scientific Management’ was

first used in :

(A) 1876

(B) 1903

(C) 1915

(D) 1918

Set-B



TRINIA® Ya= &1 31 B

(A) s

(B) il &1 ek a=Am

(C) F & gl B HuRer &=
(D) SR H ¥ P T

Sl AR, ¢U & AR M & YR
g

(A) 4

(B) 6

) 8

(D) 10

B R P e e pt
B 7|

(A) WRD

(B) Udial

(C) i

(D) ddfeus

3 (A) 3R (B)
Swad # ¥ Plg T

C010201T

(4)

5.

6.

The function of administrative

management is :

(A) Planning

(B) Setting the policies

(C) Setting the standards of work

(D) None of the above

According to George R. Terry, the types
of planning are :

(A) 4

(B) 6

(C) 8

(D) 10

Policy decisions are generally

decisions.

(A) Group
(B)
(®

(D) Alternatives

Individual

Process

Brainstorming is a decision .........
(A) Technique

(B) Principle

(C) Both (A)and (B)

(D) None of the above

Set-B



8. “Tdh YgIdh Pl SilgH 3 g o @l 8.  “The life of a manager is a perpetual

B 21 T o & - choice making activity.” This statement
is of :
(A) <0 (A) Terry
(B) 3R TH. SR & (B) R.S.Davar
(C) T & (C) Drucker
(D) SUYa H H Bl el (D) None of the above
9. fafdre fofy fafer & 9.  Specialised decision methods are :
(A) HY (A) Ordinary
(B) SFIRIS (B) Unnecessary
(C) aHI (A) R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above

10. “fuig o~ faepedl & Heu g4 % |” I8 10. “Decision is the selection among different

HorT % . alternatives.” This statement is of :
(A) UIeR Uh, SR @ (A) Peter F. Drucker
(B) EEC U. ATSHT @I (B) Herbert A. Simon
(C) 3R UH. S[dR I (C) R.S. Davar
(D) Suga H A Bl 7Tl (D) None of the above
11. folg <1 a1 e o § F wh @ 11. Selection of one out of two or more
AR e is decision-making.
(A) famed (A) Alternatives
(B) frgr=i (B) Principles
(C) Wfhy 3t (C) Processes
(D) SUYa H A Bl 7l (D) None of the above

C010201T (5) Set-B



12.

13.

14.

“Iel gRT YT 3ffH URvIM g7 A8
B T -

(A) RPX DT

(B) Ucld @I

(C) SR &I

(D) X @1

HEIAdl § Hed Al Bl FAG gRT aAlfod
RGA H HURIRT B W B |7 T B
g

(A) ¥ RAY T =g @

(B) <X @

(C) Vel @1

(D) SR DI

“IeRdl BRI e & WM W BT gw
US Bl dhrlol o] B W1 |7 Ig Yard
fear @ -

(A)
(B)
(©)
(D)

IR, TF, TR
T, &, 9l
T TH, g9

GAl

C010201T

(6)

12.

13.

14.

“Management by Objectives is the final

result.” This statement is of :

Drucker

(A)
(B) Allen
Davar

(©)

(D) Terry

“The transformation of raw materials by
factory method into thing wanted by

society.” This statement is of :

(A) Bethel Smith and Others
(B)
©)

(D)

Terry
Allen
Davar
“Management by action technique should
be applied instead of management by

objectives.” This suggestion has been

given by :

(A) R.S.Davar
(B) N.K. Sethi
(C) A.M. Brown

(D) Terry

Set-B



15.  ATHlerd RIS &IaT @ :
(A) TrHGAA
(B) HIBICIA
(C) 3BT

(D) SWH F ¥ PIg TEl

16. SUHH § GG DI WY PNl ©

(A) STaadd ye
(B) HIH UEHI
(C) T ua=r

(D) ¥dlclh HUSA

17. “Told  AISAHD AT

fySITes @I Al & TAT Jg dd b S

T TR <A 217 TE B B

(A) 5T P
(B) Teld @l
(C) X @

(D) RIX DI

C010201T

RUGRIDET

(7)

Corporate planning is :

(A) Long-term

(B) Middle-term

(C) Short-term

(D) None of the above

In an enterprise  organization

established by :

(A) Top management

(B) Middle management

(C) Lower management

(D) Board of Directors

“Wrong organisational structure prevents

business performance upto the extent that

it.” This statement is of :

(A) Brech

(B) Allen

(C) Terry

(D) Drucker

Set-B



18.

19.

20.

STeT U & I O 1§ ?

(A) a9
(B) fad=raor
(C) 3NTaRE =1 &I AT

(D) Suda Wl
e T 8 ?

(A) 9]

(B) M /ATt
(C) Tl (A) 3R (B)
(D) SWa ¥ ¥ I3 T

ffoiRad § 9 SF-91 RN S B
TP YBR Tel & ?

A q

(B) HTE

(©) Fa el

(D) P

C010201T

(8)

18.

19.

20.

What are the key elements of

organization process ?

(A) Departmentation
(B) Decentralisation
Self formal relation

(©)

(D) All of the above

What is an organisation ?

(A) Product

(B) Goods

(C) Both (A)and (B)

None of the above

(D)

Which among the following is not a type

of communication network ?
(A) Circle

(B) Chain

Free flow

(©)

(D) Triangular

Set-B



(B)
(©)
(D)

3FITETRE TS
M (A) R (B)
ST # | BIS T

22, 3TCY GG B eI R’ & ?

(A)
(B)
(©)
(D)

SERIT BT I
=1 a1 Sfera e
ICINEERYI

Sygad F4l

23. G BT S T 8 ?

(A) &h DI YT H FEINT BRAT

(B)
(©)
(D)

24, YT AHR BT Rigla AT 8 ?

(A)
(B)
(©)
(D)

C010201T

faqore
TFT (A) 3R (B)
Swad # ¥ Plg T

JraR® feR Rigrd
g Rigr

THT (A) 3R (B)
Swad # ¥ Plg T

(9)

Classification of organisation is :

(A) Formal organisation
(B) Informal organisation
(C) Both (A) and (B)

(D) None of the above

What are the characteristics of an ideal
organization ?

(A) Realisation of objectives

(B) Reasonable span of control

(C) Specialisation

(D) All of the above

What is the purpose of the organization ?
(A) Assist in achieving goals

(B) Marketing

(C) Both (A) and (B)

(D) None of the above

What is the principle of managerial

authority ?

(A) Formal Authority Theory
(B) Competence Theory
(C) Both (A) and (B)

(D) None of the above

Set-B



25, JTNCIRIT & YPR T © 7 25.  What are the types of responsibility ?

(A) WA IR (A) Continuous Responsibility
(B) fioy StReRE (B)  Specific Responsibility
(C) <Ml (A) R (B) (C) Both (A) and (B)
(D) SUYa H H Bl el (D) None of the above

26. ARGR & YHR B @ : 26.  Types of authority are :
(A) 3 A) 3
B) 5 (B) 5
© 7 ©) 7
(D) 9 (D) 9

27. IR fbaT W1 Aahdl 2 27.  Delegation can be done of :
(A) STREIRIE B (A) Responsibility
(B) SRHR F (B) Authority
(C) SIaEQE! & (C) Accountability
(D) Sugad F4I (D) Al of the above

28. SAURTT B T erar fafdr g 28.  Methods of key or tools of motivation is :
(A) IRIAT gRT SR (A) Motivation by change
(B) IRHIRTCT §RT SIMATRYT (B) Motivation by participation
(C) AR R AR (C) Motivation by challenge
(D) Sugad FI (D) Al of the above

C010201T (10) Set-B



29. U Ud. Hedll (ard o
(A) Rd &
(B) 3R®T &
(C) WU+ &
(D) SUE F F PIE Tel
30. 3IfeTH ST B @
(A) T A6 H
(B) HHTANI HITSH
(C) T (A) 3R (B)
(D) SWE & W B &

31. SFITAR® WTed Far g ?
(A) I
(B) HHANI
(C) T
(D) SWa ¥ ¥ IS Tl
32, TIGR BT QAN T
(A) BTTSl BRI H glg
(B) IRV &I 314G
(C) <& il ¥ gig
(D) ST W

C010201T

(11)

A. H. Maslow was the resident of :
(A) India

(B) America

(C) Japan

(D) None of the above

Maximum discipline exist in :

(A) Line organisation

(B) Staff organisation

(C) Both (A) and (B)

(D) None of the above

What is informal organisation ?

(A) Personal
(B) Staff
(C) Line

(D) None of the above

Disadvantage of centralisation is :

(A) Increase in paper work
(B) Lack of Incentive
(C) Increase in routine works

(D) All of the above

Set-B



33.

34.

35.

36.

fAB-=ThRT & SHeToT FeTSy

A Refa

(B) HAI9d ¥ fiRmae

(C) A=

(D) SWH # | B &l

ST U9 $ HRI-AR H G Gl 8
(A) BRI

(B) fad=siaxor

(C) =M (A) 3R (B)

(D) SWE & W B &l

RO fHa ST &
(A) ARHIRTT BT

(B) 3pERel @I

(C) I (A) 3R (B)
(D) SWa ¥ ¥ I3 T

ferreftepeor 1 BIell 8
(A) o PI g9

(B) I @I qaial

(C) <H B gara
(D) SWad # | BIS T2

C010201T

(12)

33.

35.

36.

Point out the features of decentralisation :
(A) Position

(B) Fall in morale

(C) Control

(D) None of the above

Work load to top management reduces :

(A) Centralisation
(B) Decentralisation
(C) Both (A) and (B)

(D) None of the above

Delegation is made to :
(A) Officers

(B) Subordinates

(C) Both (A) and (B)

(D) None of the above

From departmentation is :

(A) Wastage of money
(B) Wastage of time
(C) Wastage of resources

(D) None of the above

Set-B



37.

38.

39.

40.

C010201T

ferfeor SUY &

(A) 9 @ & fov

(8) g e % forg

(C) HER SE & forw
(D) SWH # | B &l
forfisRor o1 HHAIRIT W YMIE Tedl
g

(A)  srgErer ¥ g

(B) Afdd ya=

(C) g e

(D) SWH # W B &l
ffaRer & TARI & T ¢ -
(A) TEHHS iR
(B) WRHIIAR faumieor
(C) THITTAR faurfieor
(D) SHIE W

ferefevoT &1 T oM E

(A) TI9I H TRl

(B) =01

(C) S

(D) SWad # | BIS T

(13)

37.

38.

30.

40.

Departmentation is suitable for :

(A) Large Industries
(B) Small Industries
(C) Cottage Industries

(D) None of the above

The effect of departmentation on workers
IS:

(A) Increase in inefficiency

(B) Moral decay

(C) Small industries

(D) None of the above

Name the types of departmentation :

(A) Departmentation by Numbers

(B) Departmentation by Customers

(C) Departmentation by Time

(D) All of the above

The main advantage of departmentation
IS :

(A) Aid in co-ordination

(B) Control

(C) Products

(D) None of the above

Set-B



41, BIED TRieRor o IR TR 41. Departmentation by function is based

% | on............. .

(A) faRmaRo (A) Specialization

(B) favgd (B) Wide

(C) Bl (C) Narrow

(D) SWE ¥ | FIg el (D) None of the above

42. TAGIHG gHls o b foru foamant or 42. Grouping of activities to form an

WUT .................... e 2| organisational unit is known as .............
(A) oo (A) Departmentation

(B) 3T=NUl (B) Delegation

(C) T (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H H IS el (D) None of the above

43. ZFR:I'TTTR’ ICCIIEE PIEEIRRSIN 43. Departmentation by function is .............

foariaNor o el i B popular  than  departmentation by
customer.

gl

(A S (A) More

(B) @H (B) Less

(€ = (C) New

(D) SUYa H A Bl 7l (D) None of the above

C010201T (14) Set-B



44, ThaTcAD TS b STICIdT & ¢ 44, The founder of functional organization

is
(A) TR (A) Taylor
(B) T (B) Appley
(C) < (C) Terry
(D) I (D) Fayol
45. NTSATHS WXTA § UTRY B 45. The forms of organizational structure
are :
(A) 3 (A) 3
(B) 5 (B) 5
(C) 7 € 7
(D) 8 (D) 8
46. @1 GST ST Bl Wy ¢ | 46. Line organisation is the ................ form
organization.
(A) YT (A) Oldest
(B) 3D (B) Modern
(C) T (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H § I el (D) None of the above
47. 9fRfy GTea # wMragar |ffaar oo 47. Generally the committees  under
Qﬂiﬁaﬁiﬁ?ﬁﬁl committee organisation are of ..........
nature.
(A) WRHIEE (A) Advisory
(B) BRGRI (B) Functional
(C) &I (C) Line
(D) ST (D) Oldest

C010201T (15) Set-B



48. “UMell @ UY-USIE 9T A @l 48. “Direction is the executive function of

Ty o & e e 2 TR guiding and observing subordinates.”
This statement is of :
BT T -
(A) Tl B (A)  Appley
(B) ®UCH TG 3 B (B) Koontz and O’Donnell
() < @ (C) Terry
(D) B BT (D) Fayol
49. IISH @7 MR B 49. Base of planning is :
(A) @AM (A) Forecasting
(B) dId (B) Selection
(c) forM (C) Decision-making
(D) SUYa H H IS Tl (D) None of the above
50. ARVl 4T & ? 50. What is Communication ?
(A) TE TS TeHIDIT ik | (A) It is a managerial process.
(B) IT U Waq UHAT £ | (B) Itis a continuous process.
(C) IB g fgwmiig ufshar | (C) Itis atwo-way process.
(D) Sugad FI (D) All of the above

C010201T (16) Set-B



51. SwoIAed UfhdT & $eH /dd B ® ¢ 51. The steps/elements of communication

process are .

(A) 3 (A) 3
(B) 5 (B) 5
©€) 7 €) 7
(D) 9 (D) 9
52. WA & AqH UHBR B © - 52.  The minimum parties to communication
are :
(A) 2 (A) 2
(B) 4 (B) 4
€ 5 (C) 5
(D) 8 (D) 8

53. U H YU G<Ydied @b Hed 53. Importance of effective communication

3. in management is :

(A) I B GAIRYT B (A) Organised business procedure

(B) gAdH offTd W BTG ST (B) Maximum production at the lowest
cost

(©) ﬁ—ccrca fohar &1 IR (C) Basic for Leadership Action

(D) Sugad FI (D) All of the above

C010201T (17) Set-B



54. “HIGIeC < I1 < 9 e ufddqal & 54. “Communication is an exchange of facts,
e Er%?ﬁ, ﬁiﬂﬁ, T e ideas, opinions or emotions by two or

more persons.” This statement is Of :
@1 fafma 17 T8 B & :

(A) JHT T4 G @I (A) Newman and Sumner
(B) T8 U Vel @I (B) Louis A. Allen

©) <l a (©) Termy

(D) SWE ¥ | TS el (D) None of the above

55.  WMIAYU WRIYYT T “UIgS’ o f3am g 55. PRIDE model of  effective

communication is given by :

(A) Tdre SR O, | (A) Floyd James J.

(B) TN T4 g | (B) Vardhaman and Vardhaman
(C) fpform =9 (C) Philip Morgan

(D) Suga H A Bl el (D) None of the above

56. U9l A9NY & Rigrd § 9 Uh g 56.  First principle of effective

s communication is ............... .
(A) FPRIHD (A) Positive

(B) ¥gtedm (B) Clarity

(C) ThRIHD (C) Negativity

(D) Sugad FI (D) All of the above

C010201T (18) Set-B



57. WEF%T-I'I_{H\T ...................... 3 2 §|

(D)

SUa # 9 3 TE

(A)

(B)

(©)

(D)

CIRCRCENE
R CSRECCREI]
3T JFRIET

S W P

59. ‘UfiSIcHe W AR § ¢

(A)

(B)

(©)

(D)

C010201T

IS ARl A
T SfaRrEl A
Aiftre sreRTEl 4
Swad # ¥ Plg T

(19)

Sematic problems are related to ...

(A) Badly expressed massage

(B) Emotional massage

(C) Hello effect

(D) None of the above

Unqualified assumptions are

| (0 IR .

(A) Physical barriers

(B) Personal barriers

(C) Other barriers

(D) None of the above

‘Reputory relation’ is related to :

(A) Organisational barriers

(B) Personal barriers

(C) Physical barriers

(D) None of the above

related

Set-B



60. URTAT YT I T I 8 ? 60. What is meant by management of

change ?
(A) fwaermar (A) Credibility
(B) ¥ (B) Context
(C) wgeedn (C) Content
(D) SWE ¥ | TS el (D) None of the above
61. URadH @ R i fhar e g ? 61.  Why is change resisted ?
(A) U (A) Management
(B) g (B) Product
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) Suga H A Bl 7Tl (D) None of the above
62. URIIT BT UBR ? : 62. Type of change is :
(A) 9IEJ IERYT H RacH (A) Change in external environment
(B) STl H gRads (B) Change in objectives
(C) wfaafia aRadH (C) Personnel changes
(D) Sugad FI (D) All of the above

C010201T (20) Set-B



63. WRIDHN FTIF0T T S
(A) e
(B) V&
(C) fauvM

(D) SWE & W B &l

64_ ﬁ'{[a'UT ....................... Wwﬂ?ﬁ'{[iﬁr{}%|

(A) et
(B) 3AMaTD
(C) tfo®

(D) SWa ¥ ¥ I3 T

65. 0T Ufthar & I ¢
A) 4
(B) 6
) 8

(D) 10

C010201T

(21)

63.

64.

65.

Managerial control is done :

(A) Optional

(B) Management

(C) Marketing

(D) None of the above

Control is a/an .............. managerial

function.

(A) Compulsory

(B) Necessary

(C) Optional

(D) None of the above

Control process elements are :

(A) 4

(B) 6

€ 8

(D) 10

Set-B



66. zﬁ—q'a-u-ry g m 1 66.

TRAIS |
(A) FHRTHD
(B) THRIHE
(C)

(D) M

67. UIEER ey fEEw @ e 67

yoTTell & |
(A s
(B) oG
C) T

(D) SWad # | BIg T2

T E |

(A) fduoE

(B) oG

(€ g«

(D) SUYa H A Bl 7l

C010201T (22)

The word ‘control” signifies the

................. approach.

(A) Positive

(B) Negative

(C) Line

(D) Modern

Managerial audit is a/an ...........

control.

(A) Modern

(B) Accounting

(C) Budget

(D) None of the above

Control and ............ are

associated.

(A) Marketing

(B) Accounting

(C) Money

(D) None of the above

system of

closely

Set-B



69. “SIFURTT UITEs oF AT SMUfed STR 69. “Motivation is a process of stimulus and

T T A R 2 9 pee response.” This statement is Of :
(A) TfoR 9 TelveR A (A) Julius and Schlender

(B) I A H (B) Carroll Shartle

(C) @ (C) Terry

(D) SWE ¥ | TS el (D) None of the above

70. Tq@ Yol ffoRad # & e T8 70 Which of the following is not a leadership

37 style ?

(A) IAPRS (A) Motivational

(B) Wide (B) Supervisory

(C) Ud=dhIT Yresred (C) Managerial support
(D) Suga H A Bl el (D) None of the above

71, W @ Uell O I9D g W WHA W 71 The leadership style which is based on

TRA B & FEerd & consultation with his group is called :
(A) SATHHD ell (A) Democratic style

(B) e e ell (B) Paternalistic style

(C) TRaw rehl (C) Autocratic style

(D) SUYa H A Bl 7l (D) None of the above

C010201T (23) Set-B



72. “fﬂ?c[ AT BT YT PR DI U Ufeha 72. “Leadership is defined as the activity of

3 AR Y TRERE R 1 U T influencing people to strive willingly for
3 ﬁN W N T mutual objectives.” This statement is of :
B ¢

(A) T 3R, S FT (A) George R. Terry

(B) Tefd @l (B) Allen

(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) Sugad H | BIg el (D) None of the above

73, “9d1 T W DI A Il g o Uh 73. “Leader is member of a group who is

AT 7T Te R o @R 98 ure given a certain status and exhibits
behaviour appropriate to the position he

IS $ IJ6U AIER USRI IRl & |7 g

occupies.” This statement is Of :

B T :

(A) Tfedd TMeeR &1 (A) Alvin Gouldner

(B) ¥ AT Vel d (B) Mooney and Rayleigh

(C) Ve @ (C) Allen

(D) Suga H A Bl el (D) None of the above
74, R@d & SR AgE @ 74. There are ... leadership styles as

SRt 2 & per Likert.

(A) 4 (A) 4

(B) 6 (B) 6

€ 8 (C) 8

(D) 10 (D) 10

C010201T (24) Set-B



75.

76.

77.

78.

C010201T

forae ot yaw yomferat €
A) 8
(B) 4
) 2

(D) 6

e Jae &1 319 &
(A) T

(B) fauvM

(©) T (A) 3R (B)
(D) SWE & W B &l

“vqg fddl d1 fder § A fb el
@1 (e |7 I8 $UA &

(A) ARG ol P

(B) <= Vel @I
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75.

76.

77.

78.

Likert’s management systems are :
(A) 8
(B) 4
C 2

(D) 6

Meaning of Vedic Management :
(A) Languages

(B) Marketing

(C) Both (A) and (B)

(D) None of the above

“Management is the development of
people and not the direction of things.”

This statement is of :
(A) L.Appley

(B) Louis Allen

(C) Terry

(D) None of the above

Which one of the following is not the part

of management process ?
(A) Control

(B) Planning

(C) Organization

(D) Marketing
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79. U @ IIIDhd Bl © 79. Management is needed at :

(A) 9 WK (A) Lower level
(B) HEYH ¥R WX (B) Middle level
(C) TwdH TR W (C) Top level
(D) I WRI W (D) All levels
80. TN BIA B AR ga+g ufshar & 80. According to Henry Fayol the primary
s a1 § functions of management process are :
A 2 (A) 2
(B) 4 (B) 4
€ 6 (C) 6
(D) 8 (D) 8
g1. fr=ifoiRad § 9 ®I9-9T B+ 3RTTd & ? 81. Which of the following statements is
inconsistent ?
(A) T9 Wi 9 B T8 g (A) Management is not different from
ownership.
(B) oA | (B) Organisation.
(C) Ve | 2| (C) Management is universal
(D) Suga H A Bl el (D) None of the above

82. “UgY T AWl ¥ IR T BRI 82. “Management get things done through the

I I8 P D people.” This statement is of :
(A) T®. S&g, CoR Pl (A) F.W. Taylor

(B) TIR% Tel. ™y @ (B) Joseph L. Massie

(C) UIeRad Tl WeH @I (C) Peterson and Plowman
(D) SUYa H A Bl 7l (D) None of the above
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83. TIH T :
(A)  Pefl
(B) fasm
(©) T (A) 3R (B)
(D) S § ¥ P
84. ‘U @ M fORH A B WB
HUF T :
(A) X R B
(B) R, ¥ Sfaq @1
(C) T (A) 3R (B)
(D) STda # & Big AL
85. TRl &AM & AR UdH Dl JGYRUIY
g
(A) 4
(B) 6
(C) 8
D) 9
86, U U, TR @ —
GERY
(A) W e
(B) M
(C) 3D
(D) STIE H ¥ BIg T
C010201T
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83.

84.

85.

86.

Management is :

(A) AnArt
(B) Science
(C) Both (A) and (B)

(D) None of the above

“Management means decision-making.”

This statement is of :

(A) Ross Moore

(B) R.C.Davis

(C) Both (A) and (B)
(D) None of the above

According to Theo Haimann the concepts

of management are :
(A) 4
(B) 6
(C) 8
(D) 9

Production management is a/an .............

functional area of management.

(A) Most important
(B) Ordinary
(C) Unnecessary

(D) None of the above
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87. THcoat & SIfAR yaead YA 3 - 87. According to Mintzberg managerial roles

are :
(A) 2 (A) 2
B) 3 (B) 3
) 4 C) 4
(D) 5 (D) 5
88. g Pl AMIfNIh TN & : 88. Social responsibility of management is :
(A) DId WNRAR & U (A) Only towards government
(B) @ad ST & Ufa (B) Only towards consumer
(C) HId TS & T (C) Only towards society
(D) Sugad |41 & ufd (D) Towards all of the above
89. G JIRBNI B TIE@ P T : 89. The main function of liason is :
(A) ATaRID (A) Unnecessary
(B) HANAI D fYfad BT (B) Appointment of employees
(C) T AN & qHD AT (C) Contact outside public
(D) SUJa H § IS el (D) None of the above
90. TN BI ENT Ufdulfed TOTEA @ 90. Principles of administration enunciated
Rrgra & by Henry Fayol are :
(A) 4 (A) 4
(B) 6 (B) 6
©) 10 ) 10
(D) 14 (D) 14
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(C) @HI (A) 3R (B)

(D) SWad # | BIS T

(29)

“Financial management is the application
of the planning and control function to

the finance functions.” This statement is

of :
(A) Howard and Upton

(B) M. W. Cumming
(C) Thomas G. Spates

(D) None of the above

Function of production management is :

(A) Production planning
(B) Production control
(C) Plant layout

(D) All of the above

“Advertising can be described as the art
of creating a demand for article of a

service.” This statement is of :

(A) C. L. Bolling
(B) William J. Stanton
(C) Bethel and Smith

(D) None of the above

Function of personnel management is :
(A) Payment of dividends

(B) Advantage to management

(C) Both (A) and (B)

(D) None of the above
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95. T WA BT T FaAT AT : 95. Henry Fayol was born in :

(A) @R H (A) America
(B) WRd H (B) India

(C) Wi H (C) France
(D) AT H (D) Germany

96. “UW. &Y, TR Gal PRNED “Iefed e 96. “Principles of Scientific Management” a

B Rrgrar e ¥ g book written by F. W. Taylor was
published in the year ............
ge |
(A) 1911 (A) 1911
(B) 1903 (B) 1903
(C) 1904 (C) 1904
(D) 1906 (D) 1906
97. ISP U b Th I : 97.  Father of Scientific Management was :
(A)  forarer (A) Kimball
(B) Sfi® (B) Urwick
© NI (C) Henry Fayol
(D) U®. &g, ok (D) F.W. Taylor
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08. dsie Ugy H NG Bl 98. There is provision of ........... incentives

— under scientific management.
(A) difed (A) Monetary
(B) IR-AfeH (B) Non-monetary
(C) <Ml (A) &R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above

99. Tced AT BT SR T 99. The birthplace of Elton Mayo is :
(A) I (A) Japan
(B) 3R®I (B) America
(C) 3ifgferm (C) Australia
(D) #Rd (D) India

100. WEERATE] EHIT R 8 ? 100. What is behavioural approach ?
(A) AT e (A) Sociology approach
(B) W fas gfeapm (8) Anthropology approach
(C) HAIfd giee (C) Psychology approach
(D) SUgad JHI (D) All of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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